IN-0005619



03/13/2023 09:00 AM | Semi Loaded 03/14/2023 09:00 AM | Crew Depart LA 03/15/2023 09:00 AM | Cross-Loading & Preparation 03/16/2023 08:00 AM | Install Begins 03/17/2023 05:00 PM | Friday Night Event -River Bottom Ranch 03/18/2023 05:00 PM | Wedding Event Date - Montage 03/19/2023 08:00 AM | Strike Begins 03/20/2023 08:00 AM | Final Loading &

03/21/2023 08:00 AM | Crew Depart Utah 03/22/2023 08:00 AM | Trucking & Semi

Organization

Return to LA

PO: Shipping Address: Montage Resort & Hotel Park City, Utah The Social Office 1274 Duane Road Chattanooga, TN TN

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

| Description | | Qtty | Price | | Total |
|-----------------|--|------|------------|---|------------|
| River Bottom Ra | nch - Friday | | | | |
| | Perimeter Drape - Pavilion Ivory Stretch Velvet and valance | 1 | \$7,215.00 | Т | \$7,215.00 |
| | Subrental: Antler Chandelier | 1 | \$1,388.00 | Т | \$1,388.00 |
| I | Hat Panel Backdrop 16'W x 9'6"H with (28) hat hooks with decal graphic applied to panels | 1 | \$5,000.00 | Т | \$5,000.00 |
| | Tahoe Round Bar 12'D - Reclaimed Wood | 1 | \$3,164.00 | Т | \$3,164.00 |
| | Montana Barstool - Horse Saddle Chair | 4 | \$195.00 | Т | \$780.00 |
| | Shanghai Barstool - Natural Wood | 18 | \$28.00 | Т | \$504.00 |
| | REUSED: Chesterfield Sofa used outside | 4 | \$0.00 | Т | \$0.00 |
| | SUBRENTAL: Sumner Leather Chair | 2 | \$1,055.00 | Т | \$2,110.00 |
| | Stockholm Sofa - Light Brown Leather | 2 | \$555.00 | Т | \$1,110.00 |
| | | | | | |

| Description | | Qtty | Price | | Total |
|-----------------|--|-----------------------------------|------------|-----|-------------|
| | Stockholm Club Chair - Wood Frame with cowhide cushions | 6 | \$389.00 | Т | \$2,334.00 |
| | Tahoe Coffee Table - Reclaimed Wood 48" x 48" used outside | 2 | \$278.00 | Т | \$556.00 |
| FX | Hamptons Coffee Table - Natural Wood used inside | 1 | \$223.00 | Т | \$223.00 |
| | Accent Table - Athens - Copper | 1 | \$111.00 | Т | \$111.00 |
| | Accent Table - Bali Twisted Cylinder Copper | 5 | \$111.00 | T | \$555.00 |
| | Accent Pillow - Montana Faux Fur Cow Hide | 6 | \$28.00 | Т | \$168.00 |
| | Blankets - Montana Faux Fur Brown Cow Hide | 4 | \$50.00 | T | \$200.00 |
| | Ottoman Pod 18"D mix of leather and cowhide print | 8 | \$50.00 | Т | \$400.00 |
| | Cowhide Rug - Browns | 5 | \$195.00 | Т | \$975.00 |
| | Area Rugs - Faded Tribal Tile Rust | 1 | \$195.00 | Т | \$195.00 |
| | Area Rugs - Rust Faded Medallion Fringe Edessa | 1 | \$195.00 | Т | \$195.00 |
| | New York Bar 8'L - Painted Wood Frame CUSTOM Copper flat front paneling and sides | 2 | \$2,387.00 | Т | \$4,774.00 |
| | Custom Signage - Faux leather Sign 5'L x 36"W Sandra to paint | 1 | \$500.00 | Т | \$500.00 |
| | Custom Signage - Faux Leather Banner 10'H x 48"W with Sandra to add paint details | 2 | \$850.00 | Т | \$1,700.00 |
| | Custom Signage - Faux Leather Sign 24"H x 36"W with Sandra to add paint details | 2 | \$375.00 | Т | \$750.00 |
| | | Total River Bottom Ranch - Friday | | day | \$34,907.00 |
| Ceremony - Satu | urday | | | | |
| | Hollywood Dining Chair - Transparent | 170 | \$25.00 | T | \$4,250.00 |

| Description | | Qtty | Price | | Total |
|------------------|---|----------------------------|------------|-------------|------------|
| A-A | NEW Cushion for Hollywood - White | 170 | \$0.00 | Т | \$0.00 |
| | | Total Ceremony - Saturday | | day | \$4,250.00 |
| Cocktails - Satu | rday | | | | |
| | Entry Drape - Grey Stretch Velvet to close off the area not being used near stairs/elevator | 1 | \$1,943.00 | Т | \$1,943.00 |
| | Perimeter Drape - Champagne Velvet (instock) | 1 | \$7,700.00 | Т | \$7,700.00 |
| | Perimeter Valance - Champagne Dupioni | 1 | \$1,998.00 | Т | \$1,998.00 |
| | Custom Escort Card Wall 10' x 12'H with molding and wallpaper print See reference drawing | 1 | \$5,200.00 | Т | \$5,200.00 |
| | Carmel Straight Bar 10'L CUSTOM Emerald Green Channeled Fronts with gold footrest | 1 | \$1,665.00 | Т | \$1,665.00 |
| | Carmel Curve End Bar 5'L CUSTOM Emerald Green Channeled Fronts with gold footrest | 2 | \$1,221.00 | Т | \$2,442.00 |
| | Custom Wood Bar Top 10'L | 1 | \$1,666.00 | Т | \$1,666.00 |
| | Custom Wood Curve Bar Top 5'L | 2 | \$833.00 | Т | \$1,666.00 |
| | Barstools - Buenos Aires - Gold with emerald green velvet cushions | 6 | \$28.00 | Т | \$168.00 |
| | London Sofa - Chesterfield 02 | 2 | \$500.00 | Т | \$1,000.00 |
| | London Cranleigh Club Chair | 4 | \$195.00 | Т | \$780.00 |
| | Beverly Hills Coffee Table - Round Faux Marble Top | 2 | \$278.00 | Т | \$556.00 |
| H | Beverly Hills Accent Table - Round Marble | 2 | \$134.00 | T | \$268.00 |
| | Ottoman Pod 18"D - Emerald Green | 4 | \$50.00 | T | \$200.00 |
| | Accent Pillows emerald green velvet and dupioni | 12 | \$28.00 | Т | \$336.00 |
| | | Total Cocktails - Saturday | | \$27,588.00 | |

| Description | | Qtty | Price | | Total |
|-------------|--|------|-------------|---|-------------|
| | Perimeter Drape & Pullbacks - Emerald Velvet | 1 | \$12,100.00 | Т | \$12,100.00 |
| | Gable End Drape - Flat Emerald Velvet 24'W to peak of tent on stage wall 20'W to the peak of the tent on opposite wall | 2 | \$3,400.00 | T | \$6,800.00 |
| | Custom Gable End Wood Details - Faux Wood see reference images | 2 | \$2,250.00 | Т | \$4,500.00 |
| | Custom Ceiling Triangle Arch - Faux Wood details similar to the hotel structure | 4 | \$8,000.00 | Т | \$32,000.00 |
| | Custom Valance - Scallop Cut emerald green dupioni with white dupioni accent | 1 | \$6,815.00 | Т | \$6,815.00 |
| | Wood Molding Panel - 36"W x 9'3"H PAINTED to look similar to wood stain Base Coat with a top coat wash; finished in high gloss | 14 | \$833.00 | Т | \$11,662.00 |
| | Custom Side Paneling - 48"H x 7'L with simple molding; painted similar to hotel wood paneling See reference image | 6 | \$1,305.00 | Т | \$7,830.00 |
| | Stage Fronts - London - Leather 6'W x 28"H Inside dimensions: 17"/4 H X 61"w | 4 | \$389.00 | Т | \$1,556.00 |
| | Stage Decal Insert - Custom Plaid Pattern price approx until graphic is approved | 4 | \$500.00 | Т | \$2,000.00 |
| | NEW Two Light Sconce - Pale Gold W 10" / H 17.5" / D 7.4" / 5 lb. Using (4) at entry and (4) per bar area | 8 | \$417.00 | T | \$3,336.00 |
| | Sconce Decal Insert - Plaid Detail price approx until graphic is approved | 8 | \$111.00 | T | \$888.00 |
| | Sconces - Square w. Lampshade (10) with plaid pattern sconce | 10 | \$222.00 | T | \$2,220.00 |
| | Subrental - Antler Chandelier | 2 | \$1,388.00 | T | \$2,776.00 |
| | Oversize Props - Tuscany Fireplace with extended 'chimney' to peak of tent | 1 | \$5,994.00 | T | \$5,994.00 |
| | Custom Wood Framed Art - Monogram Art For Stage: 72" x 72" For Fire Place 48" x 48" | 2 | \$2,054.00 | T | \$4,108.00 |
| | London Bar 6'L - PAINTED WOOD | 2 | \$944.00 | Т | \$1,888.00 |
| | Bar Decal Insert - Emerald Monogram price approx until graphic is approved | 2 | \$500.00 | Т | \$1,000.00 |
| | Custom Wood Framed Art - Plaid Pattern 72"W x 36"H hung above the bars price approx until graphic is approved | 2 | \$1,388.00 | Т | \$2,776.00 |

| Description | | Qtty | Price | | Total |
|-------------------|---|----------|-----------------------|-----|--------------|
| | Pasadena Banquette- Ivory w. Skirt 6' | 2 | \$388.00 | Т | \$776.00 |
| | London Sofa - Chesterfield 02 | 2 | \$500.00 | Т | \$1,000.00 |
| H | Beverly Hills Accent Table - Round Marble | 4 | \$133.00 | Т | \$532.00 |
| | Area Rugs - Damascus - Earth Tones Tiles 5'3"W x 7'5"H | 2 | \$195.00 | Т | \$390.00 |
| | Accent Pillows | 6 | \$28.00 | Т | \$168.00 |
| | | Total Re | eception - Saturo | lay | \$113,115.00 |
| Late Night - Sate | urday | | | | |
| | Perimeter Drape - Emerald Green Velvet approx 60' x 12'H | 1 | \$833.00 | Т | \$833.00 |
| | Dj Booths - Shanghai - Reclaimed Wood | 1 | \$555.00 | Т | \$555.00 |
| | | Total La | te Night - Saturo | lay | \$1,388.00 |
| Brunch - Sunday | 1 | | | | |
| | Custom Signage - 'Ski' Slope Signage price approx until size determined | 1 | \$850.00 | Т | \$850.00 |
| | SUBRENTAL: Medford Skis | 1 | \$156.00 | Т | \$156.00 |
| | Siena Sofa - Off White w. Wood Base 6' | 4 | \$500.00 | Т | \$2,000.00 |
| 1-8 | Ottoman - White Fur | 6 | \$50.00 | Т | \$300.00 |
| | Amsterdam Bar w. Silver Footrest 8'L painted white | 1 | \$944.00 | Т | \$944.00 |
| | Throw Faux Sheepskin White | 3 | \$17.00 | Т | \$51.00 |
| | | | Total Brunch - Sunday | | \$4,301.00 |
| | | Tot | ai brunch - Sunc | ıay | Ψ-,501.00 |
| Services | | Tot | ai Brunch - Sunc | ıay | ψ+,σσ1.σσ |
| Services | Installers: Air Fare Round Trip Price approx until confirmed | Tot | \$600.00 | idy | \$8,400.00 |

| Description | | Qtty | Price | Total |
|--|--|------|--|--|
| | Installers: Cross-loading Items from Rentals March 15th | 14 | \$450.00 | \$6,300.00 |
| | Installers: Install (3) Days | 14 | \$1,950.00 | \$27,300.00 |
| | Installers: Strike (2) Days | 14 | \$1,250.00 | \$17,500.00 |
| | Installers: Perdiem for (8) Days | 14 | \$632.00 | \$8,848.00 |
| | Manager: Onsite for (6) Days | 1 | \$5,700.00 | \$5,700.00 |
| | Manager: Design Fee Sourcing Product & Site Visit etc | 1 | \$4,500.00 | \$4,500.00 |
| | Manager: Air Fare Round Trip price approx until confirmed | 1 | \$1,250.00 | \$1,250.00 |
| | Manager: Per diem for (6) Days | 1 | \$474.00 | \$474.00 |
| | Manager Assistant: Air Fare Round Trip | 1 | \$600.00 | \$600.00 |
| | Manager Assistant: Onsite for (4) Days | 1 | \$3,000.00 | \$3,000.00 |
| | Manager Assistant: Perdiem for (4) Days | 1 | \$316.00 | \$316.00 |
| | Trucking: 24'L Rental for driving round trip to Utah and back | 8 | \$5,600.00 | \$44,800.00 |
| | Trucking: 24'L Rental Local Rentals in Salt Lake or Park City for crossloading from semi to hotel | 2 | \$1,500.00 | \$3,000.00 |
| | Trucking: Rental Car | 4 | \$1,400.00 | \$5,600.00 |
| | Trucking: Gas, Insurance, Valet Costs estimated cost until end of trip | 1 | \$1,750.00 | \$1,750.00 |
| | Supplies:Misc cold weather supplies for crew shipping boxes/wrap etc tools/equipment needed specifically for the event/install | 1 | \$3,850.00 | \$3,850.00 |
| | Supplies: Shipping Costs price approx until final projects confirmed | 1 | \$1,795.00 | \$1,795.00 |
| | Equipment: Beam Clamps | 24 | \$50.00 | \$1,200.00 |
| | Custom Artwork: Hand Painting price approx until final projects confirmed | 1 | \$2,500.00 | \$2,500.00 |
| | Custom Artwork: Fabric Printing | 1 | \$2,250.00 | \$2,250.00 |
| | Custom Artwork: Decal Prepparation | 1 | \$4,536.00 | \$4,536.00 |
| Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it | | | Total Products: bor/Services/Misc: axes (tax excempt): | \$185,549.00 \$163,869.00 \$0.00 |
| Notes | • | | Discounts: | (\$0.00) |
| | | | Total: Payments: | \$349,418.00 (\$191,500.00) |

Balance: \$157,918.00